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o 138 s 145 o 130 o 140 TS T Pofd| 1
210
138 days 145days | 130 days 140 days The half life of polonium 4, Po is:
321 Kb | e K = W K| 2
External mail Extra mail Electronic mail | Emergency mail | What does the term e-mail standfor?
B=0(A=1| B=1LA=0 | B=0LA=0 | B=1sA=1 :&qjldﬁx;){=;‘.3ﬁ 3
A=10rB=0| A=0orB=1 | A=00rB=0| A=1&B=1 |If X=A.B,then Xis i, when:
utdifd:ﬁig GIGAS | T |l gy | 4
Lk UtLsnsgnl etz Increases the |1y,¢ ctep up tréfisformer: T
Has less turns in| Has more turns | Increases the input current e
secondary coil | in primary coil | input voltage A |—
. chf,,ﬁ.-_m Sl S AL e tresrl12V| 5
GO 204 A ) ‘What is power rating of a lamp ":‘x};ﬁa:..')/ 2.5A
connected to a 12V source when it carries 2.5A?
s . —19
eV - Ic | ) g . e bmsle1.6x1077 | 6
2 1.6x10°19] is-equal to: L
U _’,,C,;g; T e 24 e bbbl los K 2s| T
All these Electroscope | Electrostatiés<| Current electricity | The study of charges at rest is called: - |
: I
a0 0° 42° 48.8° _ eS| 8
The critical angle of a glass is: S
10dB 100dB 4 10-'dB . bt 9
Zero One bel is equal to: :
A R is k) Se_twg AT WAL | 10
Amplitude Wavelength Period Frequency  |The loudness of a sound is most closely related to its:
.3 3 .2 1 I‘LGﬁLngPng/;ﬂrthbﬁfeﬁ 11
=T = T =T = If the time period is given, then frequency is
) calculated as:
K m o 8 g L LhaJirittaft| 12
T T 1o T=2n— T=2n|— T=2r= : i i ;
m k g “"N£  |The formula for time period of a simple pendulum is:
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10 wyrite short answers to any FIVE parts. -é@ygzﬁﬁ,'z'é&&‘j{
What are damped oscillations? Draw diagram, S l:«(f/"iii ?ILJI/{,'}... f‘:’u‘ﬁgi (i)
Define vibration. A (i
Write any two features of simple harmonic motion. -c?;o’u:'«_br“;m.j' G;JJ:‘J:’;;J-{. (iii)
Write two laws of refraction of light. B _291,5 iiy:&ﬁ);&ﬁ; (iv)
Define NAND gate and write its truth table. b ANt Sl ()
- E IS Grasalp Ntieryy i LASFLS i)
If an object is lying at 2F of a convex lens, then what will be the location of image formed? Draw diagram.
' U 1 5 1332 AL By Born90o e S SE i S SAKY, i
Find the value of critical angle for water (refracted angle = 90°).The refractive index of water is 1.33 and that of air is 1.
Write any two uses of light pipe in our daily life. e UF"‘J»L.FQ::’UJ Ji)a/)‘:/d;h (viii)
10 wyrite short answers to any FIVE parts. -.’-_‘fu.yx/‘?&lz:ﬂr_éf
What is meant by silent whistle? Write its range. ‘-‘.‘L l;(n;:l H}b‘gﬁﬂ! ‘.‘;.:I/'l‘f:..-d’:(}fﬁ (i)
On what factors, does the loudness of sound depend? Write any two.  -&me {3y Se_twey M/ ISR (i)
Draw the diagram of variable capacitor. Jg..bgﬂfli :‘J f_‘{( HHp (i)
E UM NenL S -0.5m Leblen ink 7l U s~ 100uC 1 S0uCAS ST Syl (i)
Two bodies are oppositely charged with 500pC and 100uC charge. Find the force between the two charges if the
distance between them in air is 0.5m
Draw the electric field lines for two positive point charges. -2_-&)‘312?..(}? I_LZ.ZA,.;J:;,&J;,, W)
‘What is the difference between primary and secondary memories? "’{_J)-qufdsz AL A (vi)
Which is more reliable for data storage, floppy disk or hard disk2 (L3 ALY LSt (vid)
‘What is the difference between RAM and ROM memories? % J)ggﬂd))‘:r’:mff-) (viii)
19 ‘Write short answers to any FIVE parts. -i’t“ﬁ/ﬂﬁﬂzlé&&(j;
Defire current and write its Si unit. Ay stk S 6
Dra labelled diagram of three resistors in serié8'Gorfibidation? e PSS L re e G
' UG 2P ety B L SES 10V il 4k 6k (i)
11 two resistors of 6kQ and 4kQ) are connected in series across a 10V battery, then find equivalent resistance of the
series combination.
What is the basic difference between electricity and magnetism? ?‘al_,_fJ)d:_L} pﬂr’ﬁi‘gﬂ(}"'}gl (iv)
State Fleming's left hand‘rule -g{g&dﬂ(ﬂ-q"lb’ 7 )
Defie fission reaction, _ &0 - /‘Uu"'g Fdj‘_—f‘ (vi)
Write the two characteristics of Beta particles. _£ .:«?r‘%:&)gkf_». (vii)
Cana transformier pperate on direct current? e CC)? b’,;‘.!f‘f.b.(}li/;li«"')g (viii)
A 09 Ly <y fe il ctivne§f iy daa
Part - II, Attempt any TWO questions. Each question carries 09 marks.
01,02 g Ll S a3 ()
Wat is meant by longitudinal waves? Explain it with the help of diagram.
0s "‘Jnl{ig‘fi&/ _f_g?ig!;(_.d.«:ﬁélfsfd/ﬁljlf:fJéiﬁfeLng.’;{ 20cm c..;/fs(...g ()
Anobject and its image in a concave mirror are of the same height, yet inverted, when the object is
20an from the mirror. What is the focal length of the mirror?
04 ' eSSk B s dlon i ()
Wih at least two examples, give the importance of acoustics in detail.
Tl et e &2 67 LIL100pC ST g 108 2 Sy ety fie S D ()
0s ofe bW
Th electric potential at a point in an electric field is]0* V. Ifa charge of 100uC is brought from
ininity to this point, what would be the amount of work done on it?
01 - Ol _ég@u,a,rf)ilj_‘/f/ "{_B/rr(cui;f Q‘LngJ (N
Wat is relay? How does it work? Explain with circuit diagram.
0s Lt b i SRS 100V 2SI AE e 1 0MQ UL ()

T resistance of a conductor wire is I0MQ. If a potential difference of 100 volts is applied
a0ss its ends, then find the value of current passing through it in mA. /2:
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